8.2b Applications of Systems of Equations

For the following problems, create two equations and solve by using
one of the two algebraic methods (substitution or elimination).

Ex.1 A triangle has a perimeter of 112m and an area of 16y.
Determine the value of x and y.
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Ex. 2 A square has an area that is 3.25 times its perimeter.
Determine the side lengths of the square.
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Ex. 3 One number plus 4 more than 5 times another number adds to 67. Three
times the first number plus 8 less than the square of the second number
adds to 167. Determine the numbers.
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Ex. 4 A crate is dropped out of a plane. After free falling a bit, a parachute opens.
If h=-491t2+900 represents the height of the crate during free fall and

h = -4t + 500 represents its height when the parachute is open....

a) How long does the crate fr‘eefall?,q'q c . n

b) At what height does the parachute open? 7.(
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